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Arrangement by Fedor Vrtacnik

Piccolo

Flutes 1-2

Oboes 1-2

Clarinets in Bb 1-2

Bassons 1-2

Contrabassoon

Horns in F 1-2

Horns in F 3-4

1st Trumpet in Bb

2nd Trumpet in Bb

Trombones 1-2

3rd Trombone

Tuba

Timpani

Percussion 1

Percussion 2

Big Drum& Cymbals 

Percussion

Harp

Violin I

Violin II

Viola

Violoncello

Contrabass

Vivo q = 132

pp ff

pp ff

pp ff

pp ff

pp ff

pp ff

pp ff

pp ff

pp ff

pp ff

pp ff

pp ff

pp ff

pp ff

pp ff
1 2 3 4





    

 

 

 

  

  


a2 


a2



    

    
  

  

  

    

  
Shaker 3

    

    

    

    
     

 
3 3 3 3

 
3 3 3 3

 
3 3 3 3


5


5

     

  
   

     

  
   

     

     

     

     

     

     

        

  



  








  





  



  








  





           

           

        

                  





















Picc.

Flutes 1-2

Oboes 1-2

Clarinets in Bb 1-2

Bassons 1-2

Cbsn.

Horns in F 1-2

Horns in F 3-4

Tpt. 1

Tpt. 2

Trombones 1-2

Tbn.3

Tba.

Timp.

Shk.

Perc.
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Hp.

Vln. I

Vln. II

Vla.

Vc.

Db.
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